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Test Respond Report _ Specification, 1X
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OSP 2030 Stage®| Activity 2131(Define Essential Use Cases)0lA Divide Code Line®t & El Use
Case®| ZE £37|Z0| OSP 1000 Stage2|Activity 1007(Define Business Use Case)2| Describe
Use CasesOl|A] Divide Code Line use case2| A3Hof| H|8}f CtA A= O|CT,
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Test Respond Report _ Specification, 1X
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Test Respond Report _ Specification, 1X
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2.(S) : ¥ X|22 Calculate:syncRatedf| H&$iCt,

Calculate Preprocessor Sync-Rate®| Alternative Courses of Events& Ot2|2} 20| 7 K| 2t5H L.

(A) : Actor, (S) : System
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Test Respond Report _ Specification, 5X
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Test Respond Report _ Brute Force Testing, 1%
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Test Respond Report _ Brute Force Testing, 5%




Revise Plan Test Report Test Respond Report Demonstration

Test Respond Report _ Category Partition Testing, 1%
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